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1. Which of the following MOST accurately describes the
placement of the V6 electrode?

A. Fourth intercostal space at the right of the sternal border.
B. Fifth intercostal space on the left midclavicular line.

C. On the left anterior axillary line.

D. On the midaxillary in line with V4.

2. Augmented leads are unipolar. Why are they called
augmented leads?

A. A. They measure current toward only one electrode

B. B. The ECG machine increases the size of the tracing

C. C. They measure current toward two electrodes

D. D. They are named for Augmen Lewis, who discovered them

3. What term refers to the ability of the heart muscle to

respond to electrical stimulation and depolarize the
myocardial tissue?

A. A. Atrial kick

B. B. Atrioventricular delay
C. C. Complexes

D. D. Capture

4. What rhythm is characterized by regularity and five
complete cycles?

A. Sinus rhythm

B. Atrial fibrillation

C. Sinus bradycardia

D. Multiformed atrial rhythm

5. In which type of facility is an ECG performed if a patient is
in a hospital gown on a bed?

A. Doctor's office
B. Patient's home
C. Acute care hospital
D. Emergency vehicle
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6. What is the MOST COMMON paper speed used for a
standard ECG?

A. 12.5 mm/sec
B. 25.0 mm/sec
C. 50.0 mm/sec
D. 100.0 mm/sec

7. What is the implication of a prolonged QT interval on an
ECG?

A. Increased risk of syncope

B. Higher likelihood of ventricular tachycardia
C. Normal variability

D. Signs of heart failure

8. What is the primary function of the heart?
A. Circulate blood to and from tissues
B. Supply nutrients
C. Remove carbon dioxide and waste
D. Supply oxygen

9. On the ECG waveform, what represents the ventricular
repolarization?

A. S wave
B. P wave
C. Q wave
D. T wave

10. Which component of the heart initiates electrical
impulses?

A. Atrioventricular (AV) node
B. Sinoatrial (SA) node

C. Bundle of His

D. Purkinje fibers
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1. Which of the following MOST accurately describes the
placement of the V6 electrode?

A. Fourth intercostal space at the right of the sternal border.
B. Fifth intercostal space on the left midclavicular line.
C. On the left anterior axillary line.

D. On the midaxillary in line with V4.

The correct placement of the V6 electrode is on the midaxillary line in line with V4. This
positioning is important because it allows for an accurate representation of the heart’s
electrical activity from the lateral aspect of the left ventricle. The midaxillary line is an
anatomical landmark that runs vertically down from the axillary region (armpit area),
ensuring that the V6 electrode captures signals from the heart while minimizing
interference from other structures. Placing the V6 electrode in line with V4 ensures
consistency in the 12-lead ECG configuration, maintaining the relative distances and
angles needed for accurate assessments of myocardial activity and potential pathologies.
This alignment assists healthcare professionals in evaluating the heart's electrical axis
and identifying any abnormalities effectively.

2. Augmented leads are unipolar. Why are they called
augmented leads?

A. A. They measure current toward only one electrode

B. B. The ECG machine increases the size of the tracing

C. C. They measure current toward two electrodes

D. D. They are named for Augmen Lewis, who discovered them

Augmented leads are referred to as such because the ECG machine amplifies or increases
the size of the tracing produced by these leads. This amplification is necessary because
augmented leads, which include aVR, aVL, and aVF, are designed to measure electrical
activity from a single positive electrode against a neutral reference that is derived from
the other two limb electrodes. This setup results in lower amplitude signals compared to
standard bipolar leads, which measure the potential difference between two electrodes.
Therefore, to accurately represent these signals on the ECG, the machine augments or
amplifies their size, allowing for clearer readings and better diagnostics. The terminology

reflects this function of enhancing the visuals of the electrical activity detected by these
leads.
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3. What term refers to the ability of the heart muscle to
respond to electrical stimulation and depolarize the
myocardial tissue?

A. A. Atrial kick

B. B. Atrioventricular delay
C. C. Complexes

D. D. Capture

The term that describes the ability of the heart muscle to respond to electrical
stimulation and depolarize the myocardial tissue is "capture." This refers to the
successful depolarization of the heart's muscle fibers following an electrical impulse,
which is crucial for maintaining a coordinated heart rhythm and effective contraction.
When an electrical stimulus is presented to the heart, the ability for that stimulus to
elicit a contraction is termed "capture." It is particularly relevant in the context of
cardiac pacing, where a pacemaker delivers electrical impulses to induce heartbeats. A
successful capture means that the electrical impulse has effectively activated the heart
muscle, resulting in a contraction. In contrast, the other options represent different
concepts within cardiac physiology. For instance, "atrial kick" refers to the additional
blood volume that the atria contribute during ventricular filling right before the
ventricles contract. "Atrioventricular delay" pertains to the timing between atrial
contraction and ventricular contraction, allowing for proper filling. "Complexes" typically
refer to the visual representation of a heartbeat on an electrocardiogram (ECG), which
includes various waveform patterns associated with heart activity. Therefore, only
"capture" directly addresses the heart muscle's responsiveness to electrical stimulation.

4. What rhythm is characterized by regularity and five
complete cycles?

A. Sinus rhythm

B. Atrial fibrillation

C. Sinus bradycardia

D. Multiformed atrial rhythm

The rhythm characterized by regularity and five complete cycles is indeed sinus
bradycardia. Sinus bradycardia is defined as a heart rate that is slower than normal
(typically fewer than 60 beats per minute) while maintaining a regular rhythm. This
indicates that the heart's electrical impulses are originating from the sinoatrial (SA)
node, which is the natural pacemaker of the heart. In sinus bradycardia, the rhythmic
quality is present, signifying consistent intervals between heartbeats. When the rhythm
is described as having five complete cycles, it refers to the clear and consistent pattern of
the electrical activity as recorded on an electrocardiogram (ECG), where each cycle
represents a complete heartbeat. Since the rhythm comes from the SA node, it reflects
normal conduction through the atria and ventricles, thereby maintaining the regularity
that is characteristic of this rhythm. Recognizing the regularity in the heart's rhythm is
crucial for diagnosing and differentiating it from other arrhythmias, such as atrial
fibrillation, which is characterized by an irregular and often chaotic rhythm. Multiformed
atrial rhythm and other forms, while they might show regularity in certain situations, do
not fit the specific criteria of sinus brady

Sample study guide. Visit https://crat.examzify.com for the full version



5. In which type of facility is an ECG performed if a patient is
in a hospital gown on a bed?

A. Doctor's office
B. Patient's home
C. Acute care hospital

D. Emergency vehicle

An electrocardiogram (ECG) is typically performed in a setting where patients are
monitored closely and can receive immediate medical attention if needed. In this
scenario, a patient is described as being in a hospital gown on a bed, which is indicative
of a clinical setting designed for care and assessment. An acute care hospital is equipped
with the necessary facilities, including specialized equipment and trained personnel, to
perform various tests, including ECGs. This type of facility can provide immediate
support, allows for comprehensive patient monitoring, and addresses any health issues
that may arise during the procedure. The other options present different settings that
are not typically suitable for performing ECGs. For instance, a doctor's office usually has
more limited resources and may not be equipped for extensive monitoring compared to a
hospital. A patient's home may lack the necessary equipment and supervision required
for an ECG. Lastly, an emergency vehicle, while used for critical care in transit, is not
designed for diagnostic procedures like an ECG, as the focus in that context would
generally be on stabilization and emergency intervention rather than diagnostics.

6. What is the MOST COMMON paper speed used for a
standard ECG?

A. 12.5 mm/sec

B. 25.0 mm/sec
C. 50.0 mm/sec
D. 100.0 mm/sec

The most common paper speed used for a standard electrocardiogram (ECG) is 25.0
mm/sec. This speed allows for the optimal representation of the heart's electrical activity,
making it easier to analyze the waveforms and intervals, which are crucial for diagnostic
purposes. When the paper speed is set at 25.0 mm/sec, each small square on the ECG
paper represents 0.04 seconds (or 40 milliseconds), while a larger square (composed of
five small squares) represents 0.20 seconds (or 200 milliseconds). This scale is widely
accepted and allows clinicians to measure intervals, such as PR, QRS, and QT intervals,
accurately and effectively. The other options provided do not represent the standard
practice for ECG paper speed. A speed of 12.5 mm/sec would reduce the clarity of the
waveforms, while 50.0 mm/sec and 100.0 mm/sec would increase the speed at which the
heart's electrical activity is recorded, potentially compressing data and making it difficult
to interpret the results accurately. Thus, the choice of 25.0 mm/sec aligns with the
conventions established in clinical practice for routine ECGs, ensuring proper
assessment of cardiac function.

Sample study guide. Visit https://crat.examzify.com for the full version

10



7. What is the implication of a prolonged QT interval on an
ECG?

A. Increased risk of syncope
B. Higher likelihood of ventricular tachyvcardia

C. Normal variability
D. Signs of heart failure

A prolonged QT interval on an electrocardiogram (ECG) is often indicative of the heart's
electrical system taking longer than usual to recover after each heartbeat. The primary
concern with a prolonged QT interval is its association with torsades de pointes, a
specific form of ventricular tachycardia. This link is significant because ventricular
tachycardia can lead to serious complications, including syncope (loss of consciousness)
or even sudden cardiac death. The risk of developing an abnormal heart rhythm increases
with a prolonged QT interval, making it critical for healthcare providers to monitor this
finding closely. While other conditions such as syncope and heart failure can be related
to abnormal heart rhythms, they are not the direct implications of the prolonged QT
interval itself. Instead, the more direct consequence is an elevated risk of experiencing
abnormal ventricular rhythms, particularly tachycardic events that could lead to more
severe outcomes. Hence, the association between a prolonged QT interval and a higher
likelihood of ventricular tachycardia underscores the importance of addressing this ECG
finding in clinical practice.

8. What is the primary function of the heart?
A. Circulate blood to and from tissues

B. Supply nutrients
C. Remove carbon dioxide and waste

D. Supply oxygen

The primary function of the heart is to circulate blood to and from tissues throughout the
body. This process is essential for maintaining homeostasis and supporting vital
functions. The heart acts as a pump, driving blood into the arteries, which transport
oxygen-rich blood to the tissues. Once the tissues use the oxygen and nutrients from the
blood, they return deoxygenated blood back to the heart through the veins. By
circulating blood, the heart facilitates the delivery of nutrients and oxygen to cells while
also enabling the removal of waste products, including carbon dioxide. Although
supplying nutrients, removing waste, and supplying oxygen are important processes that
rely on the heart's function, these aspects are not the heart's primary role. Instead, they
are outcomes of the heart's main task of blood circulation, highlighting the heart's
crucial role in sustaining life and health.
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9. On the ECG waveform, what represents the ventricular
repolarization?

A. S wave
B. P wave
C. Q wave
D. T wave

The T wave on the ECG waveform represents ventricular repolarization. This phase
occurs after the ventricular contraction, where the ventricles become electrical neutral
again, preparing for the next heartbeat. During depolarization, the ventricles contract
and pump blood, and this is visually represented in the waveform by the QRS complex.
Following this, the T wave is critical as it indicates the recovery of the ventricular muscle
cells and the restoration of the electrical balance before the next contraction.
Understanding the T wave's role is essential for interpreting heart rhythms and
recognizing potential cardiac issues, as changes in the T wave can indicate various
conditions such as ischemia or electrolyte imbalances.

10. Which component of the heart initiates electrical
impulses?
A. Atrioventricular (AV) node
B. Sinoatrial (SA) node
C. Bundle of His
D. Purkinje fibers

The Sinoatrial (SA) node is the primary pacemaker of the heart and is responsible for
initiating electrical impulses that trigger heartbeats. Located in the right atrium, it
generates electrical signals automatically, resulting in the contraction of the atria. This
natural pacing function ensures that the heart beats in a coordinated manner,
maintaining an efficient rhythm essential for proper blood circulation. The SA node sets
the pace for the entire cardiac cycle, so when it fires, the impulses travel through the
heart's conduction system, causing the atria to contract and push blood into the
ventricles. Following this, the electrical signals reach the Atrioventricular (AV) node and
other parts of the conduction system, but it is the SA node that begins the process. This

ability to spontaneously generate action potentials is what distinguishes the SA node as
the heart's dominant pacemaker.
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